AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	e of Utility	Kirks	ville Water	Associati	on	
The f	ollowing is an ite	emization of exp	penses for pr	oviding a m	netered sei	vice connection.
A.	Meter Size					
	5/8-Inch ✓	3/4-Inch	1-Inch	1 1/2 -In	ch 🗌	2-Inch
	Other (specify)					
B.	Materials Expe	<u>ense</u>				
			Unit <u>Quantity</u>	<u>Cost</u>	То <u>Со</u>	
1.	Water Meter		1	110.65	<u>11</u>	0.65
2.	Meter Yoke		1	177.28	<u>17</u>	7.28
3.	Corporation Sto	ор	1	40.11	<u> 4</u>	0.11
4.	Meter Box and	Тор	1	109.00	10	9.00
5.	Miscellaneous	Fittings	·			0.00
6.	Other (Itemize)					
	6" x 3/4" Saddle			1	56.71	56.71
	Insert			2	2.00	4.00
						0.00
	TOTAL MATER		E			\$ <u>497.75</u>

C. <u>Service Pipe Expense</u>

	Type of Service Pipe CTS 250#		e of Service F	Pipe <u>3/4</u>		
		Unit <u>Quantity</u>	<u>Cost</u>	Total <u>Cost</u>		
1.	Short Side Service	25.00	0.35	8.75		
2.	Long Side Service	50.00	0.35	17.50		
	AVERAGE SERVICE PIPE EXPE (add total cost and divide I			\$ <u>13.13</u>		
D.	Installation Labor Expense					
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>		
1.	Short Side Service	3.00	26.13	78.39		
2.	Long Side Service	4.00	26.13	104.52		
	AVERAGE INSTALLATION LABOR EXPENSE \$91 (add total cost and divide by 2)					
E.	Installation Equipment Expense	<u>e</u>				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>		
1.	Short Side Service	1.00	280.00	280.00		
2.	Long Side Service	1.00	830.00	830.00		
	AVERAGE INSTALLATION EQUIPMENT EXPENSE \$_555.0 (add total cost and divide by 2)					

F.	Installation Miscellaneous Expense				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Inspection			0.00	
2.	Site Clean-Up	0.50	26.13	13.07	
3.	Other				
	Seed & Straw		1.00 5.0	5.00	
				0.00	
				0.00	
	AVERAGE INSTALLATION MIS (add total cost)	CELLANI	EOUS EXPENSE	\$18.07	
G.	Overhead Expense				
	Installation expense (\$ overhead rate (,	times	\$ <u>5.11</u>	
Н.	Administrative Expense				
	Office expense for establish	shing a n	ew account		
	and billing record.			\$10.03	
1.	Total Expenses				
	Materials Expense			\$ <u>497.75</u>	
	Service Pipe Expense			13.13	
	Installation Labor Expense			91.46	
	Installation Equipment Expense			555.00	
	Installation Miscellaneous Expen	18.07			
	Overhead Expense			<u>5.11</u>	
	Administrative Expense			10.03	
TOTA	AL CONNECTION EXPENSE			\$ <u>1,190.5</u>	
				1,190.0	

AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name of Utility Kirksville Water Association						_
The fo	ollowing is an ite	mization of exp	enses for pro	viding a me	tered service	connection.
A.	Meter Size					
	5/8-Inch	3/4-Inch	1-Inch ✓	1 1/2 -Incl	n 🗌 2-In	ch 🗌
	Other (specify)					
B.	Materials Expe	<u>ense</u>	Unit <u>Quantity</u>	<u>Cost</u>	Total <u>Cost</u>	
1.	Water Meter		1	129.43	129.43	
2.	Meter Yoke		1	319.88	319.88	
3.	Corporation Sto	ор	1	71.43	71.43	
4.	Meter Box and	Тор	1	109.00	109.00	
5.	Miscellaneous	Fittings	2	2.15	4.30	
6.	Other (Itemize)					
	6" x 3/4" Saddle			1	56.71	56.71
	·					0.00
					·	0.00
	TOTAL MATER		E		\$_	690.75

C. <u>Service Pipe Expense</u>

	Type of Service Pipe CTS 250#	Siz	ze of Service I	Pipe <u>1</u>	
		Unit <u>Quantity</u>	<u>Cost</u>	Total <u>Cost</u>	
1.	Short Side Service	25.00	0.55	13.75	
2.	Long Side Service	50.00	0.55	27.50	
	AVERAGE SERVICE PIPE EXPI			\$20.63	
D.	Installation Labor Expense				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Short Side Service	3.00	26.13	78.39	
2.	Long Side Service	4.00	26.13	104.52	
AVERAGE INSTALLATION LABOR EXPENSE \$91. (add total cost and divide by 2)					
E.	Installation Equipment Expens	<u>e</u>			
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Short Side Service	1.00	280.00	280.00	
2.	Long Side Service	1.00	830.00	830.00	
	AVERAGE INSTALLATION EQUIPMENT EXPENSE \$_555.00 (add total cost and divide by 2)				

F.	Installation Miscellaneous Expense						
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>			
1.	Inspection			0.00			
2.	Site Clean-Up	0.50	26.13	13.07			
3.	Other						
	Seed & Straw		5.0	0 5.00			
				0.00			
		_		0.00			
	AVERAGE INSTALLATION MIS (add total cost)	CELLANEOL	JS EXPENSE	\$18.07			
G.	Overhead Expense						
	Installation expense (\$	711.38) time	es				
	overhead rate (<u>1.0</u>	<u>90</u> %)		\$ <u>7.11</u>			
Н.	Administrative Expense						
	Office expense for establish	shing a new a	account				
	and billing record.			\$ <u>26.21</u>			
I.	Total Expenses						
	Materials Expense			\$ 690.75			
	Service Pipe Expense			20.63			
	Installation Labor Expense 91.46						
	Installation Equipment Expense 555.0						
	Installation Miscellaneous Expense						
	Overhead Expense			7.11			
	Administrative Expense			26.21			
TOTA	TOTAL CONNECTION EXPENSE \$ 1,409.2						
				1,409.0			



FERGUSON WATERWORKS #1494 1209 INDUSTRY ROAD **LEXINGTON, KY 40505-0000**

Phone: 859-624-2800 Fax: 859-623-4658

Deliver To: BOBBY

From: Kyle Petersen

Comments:

Page 1 of 2

14:01:18 APR 19 2022

FERGUSON WATERWORKS #1491

Price Quotation Phone: 859-624-2800

Fax: 859-623-4658

Bid No:

B207317

Bid Date:

Customer:

03/22/22

Quoted By: ER

KIRKSVILLE WATER ASSOCINC

PO BOX 670

RICHMOND, KY 40476

Cust Phone: 859-624-1735

Terms:

NET 10TH PROX

Ship To:

KIRKSVILLE WATER ASSOCING

PO BOX 670

RICHMOND, KY 40476

Cust PO#:

QUOTE

Job Name: SERVICE TAP MAT'L

Item	Description	Quantity	Net Price	UM	Total	
	3/4" SETUP					
FS70603	6X3/4 CC BR\$ SDL IPS PVC	1	56.710	EΑ	56.71	
FF10003GNL	LF 3/4 CC X CTS GRIP COMP CORP ST	1	40.110	ĒΑ	40.11	
FINSERT51	3/4 CTS PET / HDPE DR9 INS STFNR	2	2,000	EΑ	4.00	
PEC9BLF100	3/4X100 CTS DR9 HDPE BLUE PIPE	100	35.000	С	35.00	
FVBH727W4433GNL	LF VBH72-7W-44-33-G SN CSTR	1	177.280	EΑ	177.28	
A1805ACH	18X24 WHIT COR MTR WELL	1	60.010	EΑ	60.01	
SLC218T	18 FLT MTR BX LID DRILLED	1	48.990	EΑ	48.99	
	SUBTOTAL				422.10	
	1" SETUP					
FS70604	6X1 CC BRS SDL IPS PVC	1	56.710	EΑ	56.71	
FF10004GNL	LF 1 CC X CTS GRIP COMP CORP ST	1	71.430	EΑ	71.43	
FINSERT52	1 CTS PET / HDPE DR9 INS STFNR	2	2.150	EΑ	4.30	
PEC9BLG100	1X100 CTS DR9 HDPE BLUE PIPE	100	55.000	C	55.00	
FVBH7410W4444GNL	LF VBH74-10W-44-44-G SN CSTR	1	319.880	EΑ	319.88	
A1805ACH	18X24 WHIT COR MTR WELL	1	60.010	EΑ	60.01	
SLC218T	18 FLT MTR BX LID DRILLED	1	48.990	EΑ	48.99	
	SUBTOTAL				616.32	
		N	et Total:		\$1038.42	
			Tax:		\$0.00	
			Freight:		\$0.00	
					40.00	



HOW ARE WE DOING? WE WANT YOUR FEEDBACK!

Total:

\$1038.42

https://survey.medallia.com/?bidsorder&fc=1494&on=1212



FERGUSON WATERWORKS #1491 Price Quotation

Fax: 859-623-4658

14:01:18 APR 19 2022 Reference No: B207317

Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.

CONTACT YOUR SALES REPRESENTATIVE IMMEDIATELY FOR ASSISTANCE WITH DBE/MBE/WBE/SMALL BUSINESS REQUIREMENTS.

Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at https://www.ferguson.com/content/website-info/terms-of-sale Govt Buyers: All items are open market unless noted otherwise.

LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with "NP in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.

COVID-19 ORDER: ANY REFERENCE TO OR INCORPORATION OF EXECUTIVE ORDER 14042 AND/OR THE EO-IMPLEMENTING FEDERAL CLAUSES (FAR 52.223-99 AND/OR DFARS 252.223-7999) IS EXPRESSLY REJECTED BY SELLER AND SHALL NOT APPLY AS SELLER IS A MATERIALS SUPPLIER AND THEREFORE EXEMPT UNDER THE EXECUTIVE ORDER.



HOW ARE WE DOING? WE WANT YOUR FEEDBACK!

Scan the QR code or use the link below to complete a survey about your bids: https://survey.medallia.com/?bidsorder&fc=1494&on=1212

THOMAS CONSTRUCTION INC

1209 CURTIS PIKE KY 40475

Estimate

Date	Estimate#
4/29/2022	54

Name / Address	
Kirksville Wate: Assocation	

Description Qty Rate Total

Road bore and meter set \$30.00 \$30.00

Same sider 280.00 280.00

Road Bore Total: \$820.00

Same Sider Total: \$280.00



Customer Name: Kirksville Water Association Billing Address: 1613 Foxhaven Dr City/State/Zip: Richmond, KY 40475 Shipping Name: Kirksville Water Association Shipping Address: 1613 Foxhaven Dr City/State/Zip: Richmond, KY 40475 Email: info@kirksvillewaterassociation.com

Salesman: Bob Gillispie
Attn: Mike
Subject:
PO: Mike
Ship VIA:
FFA:

Version

Date: 3/11/2022

Sales Quote

2.4.2

Phone:	 Accept Partial	Shipments:

		Pho	one:	Acce	pt Partial Shipments	:			
Section	Meter Type	Meter Size	Register Units	Register Options	Qty	Unit Price	Extended Price	Annual	List Price
1.1	Zenner Multi-Jet Bottom Load (PMN)	5/8" X 3/4" (02)	use (us)	ETRU Encoder Output (E)		\$110,68	\$2,213,20	- Magneranse	CISC FIRES
1.2	Zenner Multi-Jet Bottom Load (PMN)	1" (07)	use (us)	ETRU Encoder Output (E)	12	\$129,43	\$1,553.16		
Section	Register/ETR Options	Register Shroud	Register Lid	Bottom Type	Part Number	Notes	41,000.10		
1.1	ZENNER Pit Pad (TPZ)	Composite (P)	Composite (P)	Bronze (8)	PMN02US-EPPB-TPZ				
1.2	ZENNER Pit Pad (TPZ)	Composite (P)	Composite (P)	Bronze (B)	PMN07US-EPPB-TPZ				
Section	Fire Hydrant Meter	Handle Options	Registration	Inlet Connection	Qty	Unit Price	Extended Price	Maintenance	List Price
Section	Outlet Connection	FHM Add-ons						101211112111111	MIGE 1 STOC
Section				11.	Qby - 100	Unit Price	Extended Price	Maintenance	List Price
2	Flanges/Gaskets/Bolts/Kits						\$0.00	50.00	250 1010
3	Radio Interface Units						\$0.00	\$0,00	
4	Handheld / Cradle / Accessories		-				50.00	\$0,00	
5	Stealth AMI System Hardware and Infrastru	ıcture					\$0.00	OQ.00	
6	Software						55.00	\$0.00	
7	Project Management Installation/Training						\$0.00	\$0.00	
	Accessories and other items				· · · · · · · · · · · · · · · · · · ·		50.00	S0.00	
9	Hydrant Meter Accessories						50.00	\$0.00	
	Total System Cost and Annual Maintenance	e					₽> 7cc ac	£0.00	
	Note: This sales order/sales quote is subject to term Payment Terms are Net 30.	s of the Zenner Performance	e Meters License and Mai	ntenance Agreement. <u>All pr</u>	ices are valid for ninety	(90) days unless oth	erwise extended in	writing.	

Signature	
Authorized Signature:	Date:
Sales Order/Sales Quote Accepted:	
Supporte: At stripping is POB Zeither Penormatice Meters	onice in Bahring, Callornia.